s 5% HTC-6121LFPB[<H0
T/COLDRRMRR -
m I o o < |45 OXAS ijﬁgji;ia%zm AK>517 KEERR
‘ e m 5 (KMEPEE 86 0mm. BEET m
B @ B E|FAD 35kq  EADIBK. 67 0mm)
" 4 _ rHOTJ(%E’JF%'%?)\F;st%jﬁ%\kr%ﬂﬂ
> [TCOL D (B 1). T THinkaels ABLEDZ/7
0 %2027, WL 1808 : ¥ELEDSY7
= HIR #EBLEDI
o \ ] ) ,ﬁ7j{'§'€ﬁ%# i":Z = ﬂ' |'H_;ﬁ7J<J\ FHM(J\ FB/%COJFLE{]%EFJ r?Equ:l ﬁé'— E D/\“/75’(T‘;‘%ﬂ7_:\
?,}gé:jlmwjjz\,y,;_ E%J;(T)J . igtED/\\waﬂz@ﬁ\
’ ik I = B () = RONEKAE = |8 21 (BR BT MUY, T5- - 5BLEDNYI51 bR
j% (=] IR WBISLRITE) — _(B?;/’Td NERAZEIAA ST T E A%;E% 0V 50/60Hz jié R [ 7454V FLEDTARTLA 2
EFT KEIZ0. 1~0.75MPa Q < B K B I KEEE 1£UO3OW KR 145/150W
DETHEENTEVN, KENS X AT VVAILFE HE K ~ 5 AHAKIEFENEK
A LS JKEDE H-p AAC TN : B | BERADEKZ S (
NEAFEEAROI. 0. 1 - T%{}X}\;ﬁv@ﬁ%w B % ¥ 2|YUS190 <Eﬂﬁ1§§1|¢07\9’\®m7k
~ = N N _ = = ER] P ca < Te=
0, NP aORCHDLC eIt £ z7>pzy—zﬁt—73/l{X§m§&3W P/OBIER 121
5 b7 LR *Sfﬁ?*g%r?ow%ﬁ@
L yTNIT N ) A K i VOBMkE $4.9
: ,iRER sz B K 3 4 JbISUs B 1491
#— L APRIORIC @g%ﬁ}?‘;ﬁ%’g@ EY EETIE SI0ATP O1AT/LAHT)
u@z;; Lt BRICKEEELET. %Eh—;k ig% #4°C (0GR, kBl s (BE7 0 g
TURED, 2 ﬁﬂﬁ =8 zﬁ’]ﬁ%{ﬁ%ﬁﬁﬁ(ﬁéﬁ%’ﬁﬁﬂ) SRR/ (77 I A R
AR —F = RBIHLEH) TR S R — R
50 4 HkEE B & ®[BHE H500m I bE
3 Lﬁ;ﬁ@ﬁ?ﬁ“ﬁfmjﬁ — BELLOTS BE g ﬁ:"é?ﬁ/(ﬁﬁwf) A 7]
7 ; NSy TERIFTR B eI AT b, B o7
| OZBERRLTCHEL PYTRRITCTEE TR N I ORI A RON
Varl) pimt
D Rl T =T “so
e B 8 B £ EREEEC Ic E—4— Ry 7 Bk EH
. My e D R Ry
6010  [FEAT RN i@SEMEFaﬁO)ﬁFHJﬁ;;giiL DR AR IRERTR
oo e TE T T
= do A 0 EEY AR HEEE'JL;E%H;{;?& o BE(HTF)
= 50s0 o a7k 0 = iéu v 7 s wen //}’tgj%#;tbﬁiﬂ/%@(“)/7\J=\: TAALY )Y ZET])
% . Gl/ 2A ) g B X 0 B | nEe &;mg\/mw;&ﬁbﬁ% ﬁﬁz*im/a)u vy DRBRENS
— ‘E* ERE1—F 2 0 B MlrEzn re s@Tcick ﬂE;anI}E TOEMH A
i )‘ AXAE ¢ hTL N
#92m) AR DFE B /537 ORI
—_ _ / /77 /M —*\\/3‘/ I“jﬁ\/\— S N
= nem = | kA0 gl m&a%ﬁaﬂ%ﬁﬁummﬁ%&%% il iy
- = > = S ANy T GARA r
L] =) J kO i a/z“l/; b‘: ﬂ&rﬁgﬁﬁ i SRIE RKERRIRESEE
— = | I BEBF ?(OFF 105°C pym—
s = = Inn ] qi\hl/ l KA %Lfg X 7“;’)“/ Jledl), ltﬁ7J<7J<1\,uTa>a%cfb—@@
SN e R == e i &) X BIEBTRAE - lce—2—%O0FF
= A\ /| 9 2 KBRS Tkt~ O 1), AL R B R L
— N { r K O 0 ZIG1/2A
S = 401190 1210 w g ok | REKLILRRE
= L An 3 R4V 45—, ik NThTE
3 = = ‘ BT Vi A I
= - i~ 27YLAZ/ALSNK -
o o 225 = b\yﬁf}w_[{ﬁ%_q 1031§SNK—H40]
‘ - Jlf_?Tf"“/_'[SDMﬂ 046L]
s R O
s | T
A P i : \
| SRR (T K —7 Eperi
5 188 1 37] 1 * BV SR+ R[S F TO_OON}\fEéi'{EH%t?E[TO H=520]
! il o 2lg B8 B X g
1 % j:D //—Ié L\ *L *7%‘,%
= HTC—6121LF




